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2a, Build the MaClaurin Series for f(x)=In(l+ x)
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b. Determine the Interval of Convergence of the series. - l 2 é ‘ <
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Take the derivative of the power series for £(x) = In(l+ x)
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d. Take the anti-derivative of the power series for f(x)=In(1 +x)
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3a. Build the MaClaurin Series f'ur! f(x)=sinx l
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Dgtermine the Interval of Convergence of the series.

M 2ae3
P, \

c. Take the derivative of the power series for f(x)=sinx

d. Take the anti-derivative of the power series for f(x)=sinx
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4a.

C.

d.

Build the MaClaurin Series for f(x)=cosx

Determine the Interval of Convergence of the series.

Take the derivative of the power series for f(x)=cosx

Take the anti-derivative of the power series for f(x)=cosx
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Sa. Build the MaClaurin Series for f(x)=¢"

b. Determine the Interval of Convergence of the series.
e Take the derivative of the power series for f(x)=¢
d. Take the anti-derivative of the power series for f(x)=¢"
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6a. Build the MaClaurin Series for f(x)= arctan(x)
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b. Determine the Interval of Cogvergence of the series.
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c Take the derivative of the power series for f(x)=arctan(x)
d. Take the anti-derivative of the power series for f(x)=arctan(x)
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